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2 £7 BB 34 35 69 00 69.0 RRYOE 51 ®H HE 49 40 89 13.2 175.8

#E Hyril BE 44 38 82 12.0 70.0 5 Rl =ZER 45 44 89 13.2 175.8
3 s E 43 38 81 /10.8 70.2 o3 &5 IEGA 54 | 46 100 | 24.0 | 76.0
4 BAR IEx 43 40 83 |12.0 71.0 54 il 45 43 88 12.0 76.0
5 @R & 41 36 77 6.0 71.0 55 MR E&E 47 47 94 18.0 176.0
6 thHE KA 42 40 82 10.8 71.2 56 fmitk FHEE 43 50 93 16.8 76.2
1 HE E# 43 41 84 112.0 72.0 51 &E %H— 46 40 86 9.6 76.4
8 &F #&E 43 41 84 12.0 72.0 58 fE 47 45 92 15.6 176.4
9 MW T 43 47 90 18.0 72.0 59 & RA 47 45 92 15.6 176.4
10 /M FE=E 47 49 96 24.0 72.0 60 JiEl E— 44 48 92 15.6 76.4
11 O &HE 46 43 89 16.8 72.2 61 ZIL FEH 49 48 97 20.4 76.6
12 /a6 Rl 45 43 88 | 15.6 | 72.4 62 NE 1B— 47 55 102 25.2 176.8
13 &% & 42 45 87 14.4 72.6 63 #HE EAI 53 | 48 101 24.0 77.0
14 HE B 39 42 81 84 726 64 oKk & 41 47 88 10.8 71.2
15 #FKk IERE 48 45 93 |20.4 72.6 65 AE  BA 50 | 43 | 93 | 15.6 | 77.4
16 &5 Mm»HoOF 52 | 46 | 98 | 25.2 | 72.8 66 T4t it 45 42 87 9.6 71.4
17 @)l Bz 47 44 91 [18.0 73.0 67 HEHT & 52 | 46 | 98 | 20.4 | 77.6
18 W X5 47 42 89 15.6 173.4 68 EE FEMH 45 40 8 7.2 71.8
19 fE *LIE 50 | 51 101 | 27.6 | 73.4 69 ok ZF— 49 54 103 | 25.2 71.8
20 JIBE ZR5h 44 45 89 15.6 173.4 10 Bl IER 47 49 96 18.0 78.0
21 W™ EZ 49 46 95 | 21.6 73.4 1 HE i 55 | 53 108 | 30.0 | 78.0
22 FE R 40 37 71| 3.6 73.4 2 #LE #MX 44 51 95 16.8 78.2
23 #E HA 46 42 88 14.4 13.6 13 Xy8 2 45 44 89 | 10.8 78.2
24 TNl ORE 49 44 93 19.2 173.8 4 g EE 47 46 93 14.4 18.6
26 Il HE 40 41 81 7.2 13.8 15 NEF BEA 50 | 48 | 98 | 19.2 | 78.8
26 BiEx EE 40 46 86 12.0 74.0 76 K& = 56 48 104 25.2 178.8
21 K& —X 43 43 86 12.0 74.0 77 {&E@& 1IEF 51 | 52 1103 | 24.0 | 79.0
28 NER KA 44 46 90 | 15.6 74.4 18 A —E 45 46 91 12.0 79.0
29 kB =A 44 46 90 15.6 74.4 9 #E FHR 48 47 95 15.6 79.4
30 L &5 45 45 90 15.6 74.4 80 HE SFif 47 53 100 | 20.4 79.6
31 B&H AX 50 46 96 21.6 74.4 81 &Il FE 49 45 94 [ 14.4 79.6
32 A8 IE— 40 43 83| 8.4 74.6 82 XxiB HBE 48 50 98 18.0 80.0
33 FN B 41 42 83 8.4 1746 83 A+t HE 50 47 97 16.8 80.2
34 ] =F 51 1 49 100 25.2 74.8 84 mE BE 57 | 55 112 | 31.2 | 80.8
3% X Eil 43 45 88 13.2 74.8 86 MHE #CHE 61 | 56 117 [ 36.0 | 81.0
36 FE FA 45 43 88 13.2 174.8 86 B&kHF IEA 46 53 99 [ 18.0 81.0
37 #FKk Hif 50 | 49 | 99 [ 24.0 | 75.0 87 HE L& 59 | 46 105 | 24.0 | 81.0
38 HFEF E 43 44 87 12.0 75.0 88 it &= 49 55 104 | 22.8 81.2
39 KIE FHif 45 42 87 12.0 75.0 89 Kix HIE 54 | 55 1109 | 27.6 | 81.4
40 FEHE EE 47 45 92 16.8 175.2 90 KHE #xX 53 | 50 103 21.6 81.4
41 g E— 44 42 86 | 10.8  75.2 91 HE ER 48 51 99 | 16.8 82.2
42 Wi fBIE 53 | 51 104 | 28.8 | 75.2 92 \|iFE MK 46 47 93 10.8 82.2
43 #0O &= 44 42 86 | 10.8 | 75.2 N8V xF B 53 | 55 [108 | 25.2 | 82.8
44 wHE —=£ 50 | 48 | 98 | 22.8 | 75.2 94 FHO fF=E 51 | 50 101 18.0 83.0
45 E[R 1EF 47 44 91 [ 15.6 75.4 9% Fm R 62 | 51 113 | 28.8 | 84.2
46 #H ESH 47 50 | 97 21.6 175.4 9 [ER ER 62 | 60 122 | 36.0 | 86.0
47 i+ EE 46 45 91 15.6 75.4 97 dtin KE 67 48 115 26.4 88.6
48 REA  #tAE] 50 47 97 21.6 175.4
49 KE E5 50 | 52 102 | 26.4 | 75.6
50 EH & 47 48 95 19.2 75.8
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